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APPENDIX 3 (a)

Showing computations for r and t of two-eata - three-cat a form 
for total sample (H 100)
B1 - S

Gheky - cxx) c^lyH
J\mx2 - (EX)2] [NX?2 - ('EY)2]

100(208412) - (-1129) (-2612?

J [100(538336) - (~1129)&J jj.00(483979) - (-2612)^
17892252 

: 43764385..

= 0.3595

B2 - S

t
- M2

(-12.29) - (-26.12)
I52.558959 4 47.123£59 - 2(0.3595) (7.2498) (6.8644)

13.83 

63'. 9008

13.83 
“ 7.9937

= 1.73



in

B2 - s

_____Gtscy - ax) ciyH_____
J /nzk2 - (lx)2J 5r/2 - (zy)2]

, 100(47806) - (754) (-800)
J [l 00 (145026 ) - (754 )2] 100(S9102) - (-800)2J

4177400 
“ 11363262

- 0.3676

= _:_______ *l - M2 .

JcTM12 + <m2S - SraJIjtfMg"
= (7.32) - (-8.00)
J 42.9175 f 64^5096 - 2(.3676) ,(8,0316) (6.6513)

_ 15.32
J~68/7428

15.32 
= 8.2903

= 1.848
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B3 I

rXY
Grog (ex) (syA 

J [niX2 - (EX)2] [nZJ2 - (ZY)2]
________ 100(92380) - (62) (-229)

J [l00(182908) - ( 62 ;*2J|j:00( 148293)

- 9252199
~ 16448787.95

(-229)2

= 0.5624

: "1 MP.:

4 ‘S'Mg2- 2f*«rM1<rM2 -

(.62) - (-2.29)

J 23.2869 -f 1477968 - 2(0.5624) (4.2871) (3.8471)

2.91 
f18.55

2.91 
~ 4.307

ir .676
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B - D 
-2_____

rXY
SlXY - (XX) iT£)l______

- Czx)zJ [niy2 - (ZY)2]

100(168246) - (4141) (1137)
J~[100(356393') - (41413*^ jl00 (198643) - Ol37)^J

12116283 
- 18530851.86

= 0.6538

*l 1IL

I 2^"™'2~’

<5U *• 2nffM1<rM

(41.43) - (11.37

18.4914 + 18.57153 - 2(-*6538) (4.299) (4.3093)

30.06

13.9502

30.06
3.7361

- 8.05



21?

FX - G

rXY
Grog - cap &-y)3

- (ZX}22 [jrv2 - (ZLY)2]

100(394281) - (1646) (3290)
----------------CT*----------------------- g—--------------------------------------------------------------------------------- g—

|l00(601324)(1646) J [l00(536316) - (3290) J
34012760

50756827206

= 0.067

M “ M
1 2

<TM + CM - 2rcrMi<5MC)
T. 2 2

(16.46) - (32.90)
.n-w-£..;=!di iy

57.423084 f 42.8075 - 2(.067) (7.5776) (6..5430)

v- . 16.44 
Z’̂ jP * iD747f=

1.58
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ps -s

rXY ■ Mfcr - (7x1 crr>
1 [wpcs - (SC)2] - (CY f]

,100^1072) - C -2761 (-1842)

J [100(1264683 - (276)2J §00(882344) - (-1842)2J

-401192
31059829.2

= -0.013

- Mc _J_____ £

<r M +^m2 -2r(gM1<yM2 -

(-2.76) - (-18.421

12.5706 + 84.8414 - 2(-.013) (3.5454) (9.2109)

15.66

98.2611

15.66
9.9126

a=; 1.699
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APPENDIX 3 (b)

Showing computations for r and. t of two-cata and three-cata 
response fern for boys (N 50)

Bl-N

flrgg - ATX) (£y51 

[xxx2 -- (XX)2] £nxX2 - (TY)2]

._________50(190864) - (-1933) (-2052)_________
J ]j50 (2985487 - (-1933) 2J Jj50(297329) - (-2052)2]

5576684
10920050

= .51

t
M1 - M2

<5'M1 tcf m2 - •

(-38,66) - (-41.04)

89.5273 + 85.2460 - 2(.6l)- (9.46) (9.23)

2.38

76.9796

2.38
8.77

= 0.27
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B2 S

rxy Grog - (ex) mU

Ijrx2 - (lx)2] [nzy2 - (sy)2j

50(28435) - (743) (-79) 

£50(60259) - (743 3s] JsO(36035) - (-79)SJ

1480547
2102089

,70

M1 " M2

(TM^ t <^Mg2 - BrcrM^cr!^

(14.86) - (-1.58)

19.6872 + 14.3641 - 2(.70) (4.44) (3.79)

16.44

10.4927

16,44 
^ 3.24

= 5.07
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b3 “ I

rXY Grixy - (zxl (xyB
[hix2 - (yx)2] £itx2 - (zy)2]

50(42348) - (-878) (-430) 

[50(89448) - (-878)2] [50(90656) - (-430)2]

1739860 
r 4011710.0

= .43

M - M,
O'M!2 + crMg2 - 2r<s-M1o-M2

(-17.56),- (-8.60)

129.612 f 34.7832 - 2(.43) (5.44) (5.89) 

8.96

36.8395

8.96
6.07

1.48



n

B4 - D

rXY
[next - (XX) (TT)!

[ijrx2 - (*lx)2J J~nty2 - (tz)2J

50(110497) - (2916) (12613

1847774
3833102

,= .48

t Ma ' \
ol^2 + <rMg2 - 2rcM&M2

(58.32) --(25.22)

27.6788 + 33.9730 - 2(.48) (5.26) (5.83) 

33.10

32.2126

33.10
5.68

' - 5.83
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F - C

___________fear - (TX) (0)1

- (ty)2J

_50(99381) - (-861) (190)

[50(228381) - (861 )2] [so (190228) - (190)2J 
N

___ '5132640
~ 10058562

= .€1

t
M1 " Mg

f
2~ " 2 " ' ' ~v

ffM1 + <JM2 - 2rcSM1<3'M2 -

(-17.22) - (3.80)
j~85.4218 4 75.8024 -"2(751) (9.24) (8.71)

21.02__
|~79.1342

21.02
8.89

=X 2.36



F2 - s

fiJEXY - (<9X) (YY)1______ •

~ I [kx2 •- (a)2] Cmr2 - («>2J

= 50(12101) - (-134) (-1341) 
J[50(64544) - (-1S4)2] £§0(372333) - (-134)2]

425356 
~ 7346716"“

- .05

t
*“ Mg

r~ p ~2~ ~ ~ *
' + 5Mg - 2rcjM1 CTMg

(-2.68) - (-26.82)
r~25.6740 t 134.5470 - 2(.05) (5.06) (11.59)

__24.14__
f154.3565 '

24.14 
12.42

=* 1.94
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APH3NDIX . 3 (c)

Showing computations for r and t of two-cat a and three-cata 
response form for girls (F 50)

Bl - M

rXY &IXY - (ZX) (iyH

[fsc - (zx)2] [iuvr - (ry)2J
50(17548) - (704) (-560)_____________________

£50(239788) - (704)2J £50(186650) - (-560)2]

__ ‘'8435464 
10240628

- 0.8

t 1 2
... .+ olJg - 2r<yM1<5Mg

(12*08') - (-11.20)
93.95 4 72.15 - 2(.8) (9.50) (8.40)

25.28 
T64.10 ■-

25.28
36.42

^ .694
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B2 - S

„ Otcxy - (sc) (tyU

j - (rx)2J £nsy2 - (zy >5)= -—■Slag3?1) - (-11) (-721)
J" [50(847675-(-11)2] 0(63067) - (-721 )2]

_ 960619
~ 3340870.28

• 29

%

cm

M-i - Mg_________________

~—~2 —————
tc3"Mg ~ 2rtfM^dr)VIg

(-0.22) - (-14.22)

C33*9068 t 21.0681 - £(.29) (6.82) (4.59)

14.00

39.4799

14.00 
- 6.28

= 2.23



ni

rXY

BS - I

Gtsxy - (ix1 (iyI3 

J~[mix2 - (Yx)2] /jtzy2 - (<ey)2~|

50(50032) ~ (940 ) f gQll 1>
J [50(93460) - (940f] [s0(5783) - (20l)2]

2312660
3293628

— .70

t
M1 - M2

_ g g— — ■
<5M. t <5M -1 2 12

_____(18.80) - (4.02)

30.3152 * 22.8116 - 2(.70) (5.51) (4.78)

_ 14.76

f16.2539

14.76 
' 4.03

= 3.67
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B4 - D

rXY'
FIteky - (EX) (YY)]

Ijzx2 - ax)2] /m2 - (zrr]

50(57749) - (1227) (-124)

[50(117X35) - (122T)2J /50(8190S) - (-124)2J

2735302
4213441

= .64

M^T^Mg2 - 2roM1rMg

_(24.54) - (-2.48)
J 34.8098 f 32.6402 - (.64) (5.90) (5.7l)

^ 27.02

24.3281

- 27.02 
~ 4.93

5.48
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F1 -C

-Lmixy - (ZX) (ZYlI

JJmix2 (ix)2J [nzy2 - (ZY)2]

50(2949000 - (2507) (3100)____________
J [b0(372943) - (2507)2] [50(346088) - (3100)2]

7159300 
“ 97524966

= .06

JtTMl2 + c^M22 - 2PtfM15SBg
_(50.04) - (62.00)
J 98.8968 +• 61.5552 - 2(.06) (9*94) (7.84|

~ ll»86

151.1004“

_'11.86 
" 12.30

= 0.96
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F
2

rXT Spot - (rx) (zy)1
[nix2 - (XX)2] [wxx2 - (dt)2J

50(-131733 - (-142) 1-501) 
[50(61920 - (-142)2] [50(510011) - (-601 )2J

139792
8812974.6

0.016

% M,

tfk,2 + CTM 2 - 2rc5M CMn 
1 2 12

(-2.84) - (-10.02)

24.6083 t 22)2.9964 - 2(.016) (4.96) (14.21)

7.18

224.3493

7.18
14.98

* 0.48



APE30DIX 3 (d) n\
Sho\¥ing computet ions for t of sex differences on two-cata. 
response form

B1 - H

B2-S

3% - M2 

ctm^2 4 <nyig2

(-38.63) - (12.08) 

89.5273 t 91.9503

50.71

181.4776

50.71
13.57

= 3.73

- MLt - 1 2

t <tm2-

(14.86) - (-0.22) 

(19.6872)4(33.9058)

15.08
53.5930*

15.08
7.320

- 2.06
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B3 I

ivi— IVIq

I (SM 2 + rfta2
J 1 2

= (-17.56) - £18.801

I 29.6121 + 3oT3152~

36.36

59.9273

36.36
TtW

4.697

B4 - D

" M2 

I 2+ ^Mg

= (58.32) - (24.54)

27.6788 + 34.8098

33.78

62.4886

33.78
7.904

= 4.273



m

- C

am2 + <rm2
J. £,

(-17.22) - (50.141 

■ 85.4218798.8968

~ 67.36

J18473186
s 67.36 

13.576

= 4.961.

F 2
■- S

Mi '
6M-j2 t tfJJg2 '

(-2.68) - (-2.84) 

r25^674FTiF. 6083’

0.16

50.2823

0.16
7.091

= .086



APPEKDIX 3 (a)

Showing computations for t of sex differences on three-cat 
response form
Bl-H Boys .* 50

Girls s 50
M1 - Mg

(-41.04) - (-11.201

85.2460 + 72.1512

= 29.84
J 157.3972

__ 29.84 
' 12.59

= 2.36

Bg - S

CTM12 + crig2

(-1.58) - (-14.22)

3641 + 21.0681

12.64

35.4322



2

- i

~2

4 cl
2

2

_ (-8.60) - (4.02) 

34.7832 4 22.8116
\

__ 12.620
15776948 .

12.620
7.589

c 1.06

B4 D

cn^2 + <si?22

(25.22) - (-2.481

33.9730 4 32.6402

27.70

66.6132

_ 2&.70
~~~ 8.161

c. 3.394



c

F1 G

t
M - M_1___________2__
_ - ■

<3Mt + <^M2

(3.80) - (62.00) 

75.8024 + 61.5552

_ 58.20__

137.3576
N

58.20 
~ 11.719

= 4.966

t
M1 - Mg

— -g-
GM i <TM

X w

(-26.82,1 - (-10.02)

134.5470 * 201.9964

16.80

336.5434

16.80
15.379

=: 1.092


